EARAROBEEIERT — 2 N— IBISH —F

201811218 (k) 14EI%HA3H

mﬂﬁ%B 8#H 5% —M (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% :190,000 " ~ 23%&:44,000”  33%&:19,000 M  437&:14,000 M .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R o BHENT 128. -1-1- . — HOEEZ (%1
1 4 AL R=NT o4 %0J| 1£f 1-1-1-1 | 38.1 2 :g ynieed &
Rix>in4O— B:EHIEA FEBS
4 3 | EEdE 1:28.3 2-2-2-2 [ 38.0| — 1 498 | HOEE (55H#2)
2lglg|7/¥U— 56.0 (1/2) (+10) | = EBF
RN—HNK B:XvA)1— =R %5
- N i o5 | EHERE 1:29.8 6-6-4-4 |38.7| — 4 437 | FILERE (1)
3lz|7 | VY=>T1F— 5.0 &) o | LEaET
v TNVRry b BivYRZ 7T filbabae]
S A 4 5 | BAREE 1:30.1 8-8-6-5 |38.5| — 6 414 | DNEE=R (SE4R)
418|8| AV = MN=A~F 54.0 (1 1/2) 4 |PERE
L7 RYAVL—> B:AVY—bE—2 9> =re)
- N HBEB/Z :30. —-3-3- . — KEFEKR (1)
5 3| T7FcUH it 4 i 1(13/02>2 5-3-3-3 | 39.8 3 :1+547) AR A
R:7L>FFE2Ts BikybTryiar FHE%E
- S 44 | EERR 1:31.3 7-7-8-7 | 39.1| — 5 435 | BEIRA (51)
6|11 | ="y b 56.0 5) 1) FiE’ﬁ) 71'\—5(;7’
RL:7A7% B:Z—<IF b FIRESS
. P— a1, -9-0- 5| - HEEE (4
7 NP EP S i o6 s 1(73::;1 9-9-9-9 |38.5 8 <4+370) s A
R:IYTFRA-EL BIVFERI-XL IYT RS
i # 5 | WTHE 1:31.4 3-4-5-6 [39.9| — 9 446 | TEARE= (5582)
8 2| EVL—Fh 54.0 (2 E) (1) | TElIERE :
R:N—E>Tv— B:Xx—TI74Ty b () tAaI-FRL -3 BET7
> ¢ # o7 | BlEFtE 1:32.5 4-5-7-8 | 40.4| — 7 510 | BEEHIE®R (55H1)
9/5|5|HRTY/IN—FF— 56.0 ) ) 3 P N
RHIITTLIFL N BT TUAIN— b F— Nk sk
® I—F—@EBIERL
|S=7r= 4,9,2,5,3,7,1,8,6
Ao=5"= 4,9,3,2,5,7,1,8,6
3T—7— 4,9,3,7,2,8,5,1,6
41—F— 4,9,3,7,8,2,1,5,6
[ N5
B 4 220M 794K 4-9 130 & 4-8 120M &R 4-7-9 350F
# B 4 1004 4-7 240 B E 4-9 1504 EE 4-9-7 1,090
9 110 7-9 380M B H 4-9 250
7 140/

ABICOVWTRDTEEERROODE. TR LIV,




